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def trex_test(tx_port,rx_port):

# create client
c = STLClient()

# connect to server and acquire ports
c.connect()
c.reset(ports=[tx_port, rx_port])

# set ipv6 address on TRex
c.set_service_mode(ports=[tx_port, rx_port], enabled=True)
c.conf_ipv6(port=tx_port, enabled=True, src_ipv6="2001:db8:1:1::1")
c.conf_ipv6(port=rx_port ,enabled=True, src_ipv6="2000:db8:2:1::2")
c.set_service_mode(ports=[tx_port, rx_port], enabled=False)

# create packet format with Scapy and traffic stream
Eth_frame = Ether()
IPv6_pkt = IPv6(src="2001:db8:1:1::1", dst="2001:db8:2:1::2")
UDP_dgm = UDP(dport=50000, sport=50001)
Payload = 500 * 'x'
base_pkt = Eth_frame / IPv6_pkt / UDP_dgm / Payload
pkt = STLPktBuilder(pkt=base_pkt)
s1 = STLStream(name='test',

packet=pkt,
mode=STLTXCont(bps_L1=1000000000))
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# add the traffic stream to TRex
c.add_streams(s1, ports=[tx_port])

# start the traffic stream
c.clear_stats()
c.start(ports = [tx_port])
time.sleep(10)

# get a results
global_flow_stats = c.get_stats()
print(global_flow_stats)
print("Sending pps is {}".format(global_flow_stats[tx_port]['tx_pps']))
print("Receiving pps is {}".format(global_flow_stats[rx_port]['rx_pps']))
print("Dropped bps is {}".format(global_flow_stats['global']['rx_drop_bps']))

# stop the traffic stream and disconnect from TRex
c.stop(ports = [tx_port])
c.disconnect()

return
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